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diff_ bpm4acX_mean vs run
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diff_ bpm4ecX_mean vs run
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diff_bpm1X_mean vs run
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diff bpm11X mean vs run

- X2 / ndf
BOQ | +o+eoereses e p0

7047177
-45.81+ 20.49

600 -

400

200

=200

-400

-600

oNoxsT coxtn @S coxr um:“tc"mmc‘t\nmmm oms oo Thext Leas T oo coxt o‘émwc‘t‘mw

Seh kR et n b s e

14

12

10

Mean

Std Dev

0.01638

0.9504

:|||||||I|||I|||I||| |H|||||||||

-6

-4

-2

0

2

4

6

8




21000

20000

19000

18000

17000

16000

15000

diff bpm11X rms vs run

X2 [ ndf

p0O

6501/ 77
1.762e+04 + 14.49

WWWWWMWWWWMWWWWWWWWWW

IHERSE R s s e

182




diff bpm1lY mean vs run
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diff bpm16Y_rms vs run
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diff bpml1p03aY_mean vs run
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diff_cav4bX_rms vs run
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